
• Recall : If A  is tall mxn matrix €-1) m)
and A has a left in use

,
( CA= In )

then the columns of A  are linearly inclepeaht .

[ why? b/c Ax=o ⇒ Ctx = Co

⇒ ×=O is the
only

solution . ]
• Jill asserted : The converse is also true

.

If columns of A are linearly independent ,

then A  is left - invertible
.

[ why
? By constructing the

' '

pseudo inverse
"

of

A
. Specifically ,

CATAJ
'

AT is a left

in Hose of A
.

Notation : pseudo inverse is A
#

]



Let A-
( to.

• Find the pseudo inverse of A
.

• Find an inverse by
inspection .

So At -
- f ! 209 )

,

so Ata -
- fi;off! ! f- Ci'd , fist . .
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i #air : Iset

= ÷÷t .

check !
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